4-230 60 17 9

1.5
O
1.5 (D1.5
@
1.5 1.5 1
5.0m V=30km/h
1.5 2
1.5 7.0m
2
1 7% 50%
2 300m
20m
7% 50 (m)
20m
2 10m

= =

1_5 o = ] ] ]
50% 025 25 * .2 175 024

! i p of o
1.5 o o
DO_A:I_D —>
30km/h

A

— = —r = ?
— - [ i
—m - - -

g
v T i e~ S
1.5
161-8575 2-18-12 03-5906-0559

-459-



4-230 60 17 9

1 30km/h 2

40km/h

500

2 20m

)
0.5m ) \ 920 5% 35%
20 \\ -
25 \k\\ ( 50 )
5km/h 1km/h N\
™\
20 N
45 NN
B 40 S —
2 o | N S E—
9.3 == €
\\ iy
5 o~
Z T
15 20 —
1,500 % 500 600\700 800 900 \1,100 1,200 1,300 1,400 1,500
2 50% 0 7 /
1.5
30km/h 2
km/h
2 50%
2
24 i : : : : 1.5
500 1,000 @ 2,000 2,500 /
500
2 7%
30km/h
500 1500
200
30km/h
1.5
1.5 2002.11
2 2004

-460-



